UNDERGRADUATE PROGRAM 2015-16 ACADEMIC YEAR FALL QUARTER 2015 Effective October 12, 2015

	F	STUDENTS	PA	ART TIME	STUDENTS	TOTAL STUDENTS					
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE
SCU Degree Students											
First-year Students											
Arts & Sciences	703	11,465.25	16.31	703	1	10.00	10.00	0.83	704	11,475.25	703.83
Business	348	5,627.00	16.17	348	0	0.00	0.00	0.00	348	5,627.00	348.00
Engineering	209	3,773.50	18.06	209	0	0.00	0.00	0.00	209	3,773.50	209.00
Total - First-year Students	1,260	20,865.75	16.56	1,260	1	10.00	10.00	0.83	1,261	20,875.75	1,260.83
Transfer Students											
Arts & Sciences	81	1,313.25	16.21	81	0	0.00	0.00	0.00	81	1,313.25	81.00
Business	31	527.00	17.00	31	0	0.00	0.00	0.00	31	527.00	31.00
Engineering	10	174.00	17.40	10	0	0.00	0.00	0.00	10	174.00	10.00
Total - Transfer Students	122	2,014.25	16.51	122	0	0.00	0.00	0.00	122	2,014.25	122.00
Continuing Students - Main Campus											
Arts & Sciences	1,900	33,206.75	17.48	1,900	44	361.00	8.20	30.08	1,944	33,567.75	1,930.08
Business	930	16,563.50	17.43	930	18	122.00	6.78	10.17	948	16.685.50	940.17
Engineering	734	12,855.25	17.51	734	13	99.50	7.65	8.29	747	12,954.75	742.29
Total - Continuing Students - Main Campus	3,564	62,625.50	17.57	3,564	75	582.50	7.77	48.54	3,639	63,208.00	3,612.54
	Í	,									,
Continuing Students - External Study											
Arts & Sciences	208	3,958.00	19.03	208	0	0.00	0.00	0.00	208	3,958.00	208.00
Business	81	1,539.00	19.00	81	0	0.00	0.00	0.00	81	1,539.00	81.00
Engineering	33	627.00	19.00	33	0	0.00	0.00	0.00	33	627.00	33.00
Total - Continuing Students - External Study	322	6,124.00	19.02	322	0	0.00	0.00	0.00	322	6,124.00	322.00
Total SCU Degree Students											
Arts & Sciences	2,892	49,943.25	17.27	2,892	45	371.00	8.24	30.92	2,937	50,314.25	2,922.92
Business	1,390	24,256.50	17.45	1,390	18	122.00	6.78	10.17	1,408	24,378.50	1,400.17
Engineering	986	17,429.75	17.68	986	13	99.50	7.65	8.29	999	17,529.25	994.29
Total - SCU Degree Students	5,268	91,629.50	17.39	5,268	76	592.50	7.80	49.38	5,344	92,222.00	5,317.38
Non Degree Students											
Main Campus	0	0.00	0.00	0	5	25.00	5.00	2.08	5	25.00	2.08
External Study	11	209.00	19.00	11	0	0.00	0.00	0.00	11	209.00	11.00
Brazil Science without Borders	5	71.00	14.20	5	0	0.00	0.00	0.00	5	71.00	5.00
Exchange Programs	19	269.00	14.16	19	1	9.50	0.00	0.79	20	278.50	19.79
Total - Non Degree Students	35	549.00	15.69	35	6	34.50	5.75	2.88	41	583.50	37.88
Total - Undergraduate Students	5,303	92,178,50	17.38	5,303	82	627.00	7.65	52.25	5,385	92,805.50	5,355.25

^{1.} SCU degree students include students admitted to the undergraduate degree program.

^{2.} First-year include first time degree students initially enrolling at SCU in fall, winter, or spring term.

^{3.} Transfer students include students with academic credit from another college initially enrolling at SCU in fall, winter, or spring terms.

^{4.} Student full-time equivalency (FTE) is based on 12 units in the undergraduate program.

UNDERGRADUATE PROGRAM - EXTERNAL STUDY 2015-16 ACADEMIC YEAR FALL QUARTER 2015 Effective October 12, 2015

	F	ULL TIME	STUDENTS		PA	RT TIME	STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE	
SCU Degree Students												
Arts & Sciences												
SCU - El Salvador	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	0	
SCU - London	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	0	
Affiliated Programs - Tier 1	45	855.00	19.00	45	0	0.00	0.00	0.00	45	855.00	45	
Affiliated Programs - Tier 2	39	741.00	19.00	39	0	0.00	0.00	0.00	39	741.00	39	
Affiliated Programs - Tier 3	30	570.00	19.00	30	0	0.00	0.00	0.00	30	570.00	30	
Affiliated Programs - Tier 4	32	608.00	19.00	32	0	0.00	0.00	0.00	32	608.00	32	
Affiliated Programs - Tier 5	36	688.00	19.11	36	0	0.00	0.00	0.00	36	688.00	36	
Oxford Honors Program	1	19.00	19.00	1	0	0.00	0.00	0.00	1	19.00	1	
Exchange Programs	15	285.00	19.00	15	0	0.00	0.00	0.00	15	285.00	15	
Washington Semester - American University	9	173.00	19.22	9	0	0.00	0.00	0.00	9	173.00	9	
Panetta Institute	1	19.00	19.00	1	0	0.00	0.00	0.00	1	19.00	1	
Total - Arts & Sciences	208	3,958.00	19.03	208	0	0.00	0.00	0.00	208	3,958.00	208	
Leavey School of Business												
SCU - London	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	0	
Affiliated Programs - Tier 1	11	209.00	19.00	11	0	0.00	0.00	0.00	11	209.00	11	
Affiliated Programs - Tier 2	34	646.00	19.00	34	0	0.00	0.00	0.00	34	646.00	34	
Affiliated Programs - Tier 3	4	76.00	19.00	4	0	0.00	0.00	0.00	4	76.00	4	
Affiliated Programs - Tier 4	10	190.00	19.00	10	0	0.00	0.00	0.00	10	190.00	10	
Affiliated Programs - Tier 5	15	285.00	19.00	15	0	0.00	0.00	0.00	15	285.00	15	
Exchange Programs	7	133.00	0.00	7	0	0.00	0.00	0.00	7	133.00	7	
Total - Leavey School of Business	81	1,539.00	19.00	81	0	0.00	0.00	0.00	81	1,539.00	81	
School of Engineering												
SCU - London	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	0	
Affiliated Programs - Tier 1	4	76.00	19.00	4	0	0.00	0.00	0.00	4	76.00	4	
Affiliated Programs - Tier 2	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	0	
Affiliated Programs - Tier 3	15	285.00	19.00	15	0	0.00	0.00	0.00	15	285.00	15	
Affiliated Programs - Tier 4	7	133.00	0.00	7	0	0.00	0.00	0.00	7	133.00	7	
Affiliated Programs - Tier 5	1	19.00	19.00	1	0	0.00	0.00	0.00	1	19.00	1	
Exchange Programs	6	114.00	0.00	6	0	0.00	0.00	0.00	6	114.00	6	
Total - School of Engineering	33	627.00	19.00	33	0	0.00	0.00	0.00	33	627.00	33	

UNDERGRADUATE PROGRAM - EXTERNAL STUDY 2015-16 ACADEMIC YEAR FALL QUARTER 2015 Effective October 12, 2015

	F	FULL TIME STUDENTS					STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE	
T + 199VP G + 1												
Total SCU Degree Students												
SCU - El Salvador	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	U	
SCU - London	0	0.00	0.00	0	0	0.00	0.00	0.00	0	0.00	0	
Affiliated Programs - Tier 1	60	1,140.00	19.00	60	0	0.00	0.00	0.00	60	1,140.00	60	
Affiliated Programs - Tier 2	73	1,387.00	0.00	73	0	0.00	0.00	0.00	73	1,387.00	73	
Affiliated Programs - Tier 3	49	931.00	19.00	49	0	0.00	0.00	0.00	49	931.00	49	
Affiliated Programs - Tier 4	49	931.00	19.00	49	0	0.00	0.00	0.00	49	931.00	49	
Affiliated Programs - Tier 5	52	992.00	19.08	52	0	0.00	0.00	0.00	52	992.00	0	
Oxford Honors Program	1	19.00	19.00	1	0	0.00	0.00	0.00	1	19.00	1	
Exchange Programs	28	532.00	19.00	28	0	0.00	0.00	0.00	28	532.00	28	
Washington Semester - American University	9	173.00	19.22	9	0	0.00	0.00	0.00	9	173.00	9	
Panetta Institute	1	19.00	19.00	1	0	0.00	0.00	0.00	1	19.00	1	
Total - SCU Degree Students	322	6,124.00	19.02	322	0	0.00	0.00	0.00	322	6,124.00	270	
Non Degree Students												
SCU - El Salvador	11	209.00	19.00	11	0	0.00	0.00	0.00	11	209.00	11	
Total - Non Degree Students	11	209.00	19.00	11	0	0.00	0.00	0.00	11	209.00	11	
Total - Undergraduate Students	333	6,333.00	19.02	333	0	0.00	0.00	0.00	333	6,333.00	281	

^{1.} Registration in undergraduate external study programs is initially set at 19 units for all students and adjusted to actual units earned upon completion of the program.

^{2.} If a student enrolled in an external study program is also enrolled in an ROTC course, the initial number of units for that student will be greater than 19.

GRADUATE PROGRAMS 2015-16 ACADEMIC YEAR FALL QUARTER 2015 Effective October 12, 2015

	1	TII.I. TIMI	E STUDENTS	P	ART TIME	STUDENTS		TOTAL STUDENTS			
	Head Count	-	Ave No. of Units	FTE	Head Count		Ave No. of Units	FTE	Head Count	No. of Units	FTE
College of Arts & Sciences											
Pastoral Ministries (M.A.)	9	76.00	8.44	9.50	28	112.00	4.00	14.00	37	188.00	23.50
Pastoral Ministries Distance Learning (M.A.)	0	0.00	0.00	0.00	25	100.00	4.00	12.50	25	100.00	12.50
Non Degree - Pastoral Ministries	0	0.00	0.00	0.00	13	52.00	4.00	6.50	13	52.00	6.50
Total - College of Arts & Sciences	9	76.00	8.44	9.50	66	264.00	4.00	33.00	75	340.00	42.50
Leavey School of Business											
JD/MBA Combined Degree	1	92.00	10.22	10.22	0	24.00	6.00	2.67		116.00	12.89
JD/MSIS Combined Degree	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00
Accelerated MBA (AMBA)	43	435.00	10.12	48.33	2	7.00	3.50	0.78	45	442.00	49.11
Executive MBA (EMBA)	36	620.00	17.22	36	0	0.00	0.00	0.00	36	620.00	36
Master of Business Administration (M.B.A.)	95	948.00	9.98	105.33	350	1.988.00	5.68	220.89	445	2.936.00	326.22
Master of Science - Information Systems (M.S.I.S.)	143	1,312.00	9.17	145.78	49	235.00	4.80	26.11	192	1,547.00	171.89
Master of Science - Finance (M.S.)	22	268.00	12.18	29.78	1	3.00	0.00	0.00	23	271.00	29.78
Non Degree - Business	0	0.00	0.00	0.00	3	12.00	4.00	1.33	3	12.00	1.33
Post Baccalaureate CAAP	78	1,306.00	16.74	108.83	5	26.00	5.20	2.17	83	1,332.00	111.00
Total - Leavey School of Business	418	4,981.00	11.92	484.28	410.00	2295.00	5.60	253.94	828.00	7276.00	738.22
School of Engineering											
Doctor of Philosophy (Ph.D.)	12	96.00	8.00	12.00	33	70.00	2.12	8.75	45	166.00	20.75
Engineer's Degree	0	0.00	0.00	0.00		4.00	4.00	0.50	1	4.00	0.50
Master of Science (M.S.)	531	4.677.00	8.81	584.63	312	1,263.00	4.05	157.88	843	5,940.00	742.50
Engineering Certificate	1	10.00	10.00	1.25	18	54.00	3.00	6.75	19	64.00	8.00
Non Degree - Engineering	1	8.00	8.00	1.00	25	86.00	3.44	10.75	26	94.00	11.75
Total - School of Engineering	545	4,791.00	8.79	599	389	1,477.00	3.80	184.63	934	6,268.00	783.50

GRADUATE PROGRAMS 2015-16 ACADEMIC YEAR FALL QUARTER 2015 Effective October 12, 2015

		FULL TIME STUDENTS				ART TIME	STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE	
School of Education & Counseling Psychology												
Master of Arts (M.A.) - Clear Teach Cath Sch Teach	0	0.00	0.00	0.00	1	3.00	3.00	0.33	1	3.00	0.33	
Master of Arts (M.A.) - Counseling	14	130.50	9.32	14.50	15	72.00	4.80	8.00	29	202.50	22.50	
Master of Arts (M.A.) - Counseling Psychology	159	1,475.00	9.28	163.89	164	863.00	5.26	95.89	323	2,338.00	259.78	
Master of Arts (M.A.) - Educational Administration	2	21.00	10.50	2.33	45	216.00	4.80	24.00	47	237.00	26.33	
Master of Arts (M.A.) - Educational Leadership	0	0.00	0.00	0.00	1	6.00	6.00	0.67	1	6.00	0.67	
Master of Arts (M.A.) - Interdisciplinary Education	7	64.00	9.14	7.11	21	96.00	4.57	10.67	28	160.00	17.78	
Master of Arts Teaching (M.A.T.) Multiple Subject	49	566.00	11.55	62.89	34	197.00	5.79	21.89	83	763.00	84.78	
Master of Arts Teaching (M.A.T.) Single Subject	29	372.00	12.83	41.33	21	104.00	4.95	11.56	50	476.00	52.89	
Catholic School Leadership Certificate	0	0.00	0.00	0.00	7	21.00	3.00	2.33	7	21.00	2.33	
Clear Admin Services Certificate	0	0.00	0.00	0.00	2	4.00	2.00	0.44	2	4.00	0.44	
Clear Teaching Certificate	0	0.00	0.00	0.00	5	15.00	3.00	1.67	5	15.00	1.67	
Credential for 6+yrs Catholic Sch Teachers Certificate	0	0.00	0.00	0.00	1	2.00	2.00	0.22	1	2.00	0.22	
Preliminary Admin Service Certificate	1	9.00	0.00	0.00	13	75.00	5.77	8.33	14	84.00	8.33	
Preliminary Multiple Sub Teach Pro Cath Sch Teach Certificate	0	0.00	0.00	0.00	7	24.00	3.43	2.67	7	24.00	2.67	
Preliminary Single Sub Teach Pro Cath Sch Teach Certificate	1	17.00	17.00	1.89	2	6.00	3.00	0.67	3	23.00	2.56	
Abb Pre Tch Prg Cath Sch Multi	0	0.00	0.00	0.00	1	3.00	3.00	0.33	1	3.00	0.33	
Non Degree - Counseling Psychology	0	0.00	0.00	0.00	3	19.50	6.50	2.17	3	19.50	2.17	
Non Degree - Education	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Total - School of Education & Coun Psychology	262	2,654.50	79.62	294	343	1,726.50	5.03	192	605	4,381.00	485.78	
Total - Graduate Students	1,234	12,502.50	10.13	1,387	1,208	5,762.50	4.77	663.40	2,442	18,265.0	2,050.00	

^{1.} Student full-time equivalency (FTE) is based on 8 units in the Pastoral Ministries program.

^{2.} Student full-time equivalency (FTE) is based on 9 units in the MBA & MSIS programs. Student full-time equivalency (FTE) is based on 12 units in CAAP

^{3.} Student full-time equivalency (FTE) is based on 8 units in the Engineering graduate programs.

^{4.} Student full-time equivalency (FTE) is based on 9 units in the Education & Counseling Psychology graduate programs.

SCHOOL OF LAW JESUIT SCHOOLOF THEOLOGY

FALL SEMESTER 2015 Effective October 12, 2015

	FULL TIME STUDENTS				PA	ART TIME	STUDENTS		TOTAL STUDENTS			
	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	Ave No. of Units	FTE	Head Count	No. of Units	FTE	
School of Law												
Juris Doctor (J.D.) - Day	489	6,997.00	14.31	583.08	7	69.00	9.86	5.75	496	7,066.00	588.83	
Juris Doctor (J.D.) - Day Abroad	1	13.00	13.00	1.08	0	0.00	0.00	0.00	1	13.00	1.08	
Juris Doctor (J.D.) - Evening	114	1,116.00	9.79	139.50	15	88.00	5.87	11.00	129	1,204.00	150.50	
JD/MBA Combined Degree	6	62.00	10.33	6.89	5	21.00	4.20	2.33	11	83.00	9.22	
JD/MSIS Combined Degree	1	9.00	9.00	1.00	1	8.00	8.00	0.89	2	17.00	1.89	
Master of Laws (L.L.M.)	7	93.00	13.29	7.75	30	215.00	7.17	17.92	37	308.00	25.67	
Non Degree Exchange	7	84.00	12.00	7.00	2	20.00	10.00	1.67	9	104.00	8.67	
Non Degree	4	51.00	12.75	4.25	2	13.00	6.50	1.08	6	64.00	5.33	
Total - School of Law	629	8,425.00	13.39	750.56	62	434.00	7.00	40.64	691	8,859.00	791.19	
Jesuit School of Theology												
Master of Divinity (M.Div.)	52	731.00	14.06	78.25	0	0.00	0.00	0.00	52	731.00	78.25	
Master of Theological Studies (M.T.S.)	8	96.00	12.00	10.67	7	34.50	4.93	3.83	15	130.50	14.50	
Master of Theology (Th.M.)	1	12.00	12.00	1.33	0	0.00	0.00	0.00	1	12.00	1.33	
Master of Theology (Th.M.) - Candidates	1	9.50	9.50	1.06	0	0.00	0.00	0.00	1	9.50	1.06	
Bachelor of Sacred Theology (S.T.B.)	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Licentiate of Sacred Theology (S.T.L.)	32	330.00	10.31	36.55	2	6.50	3.25	0.72	34	336.50	37.27	
Licentiate of Sacred Theology (S.T.L.) - Candidates	1	9.00	9.00	1.00	0	0.00	0.00	0.00	1	9.00	1.00	
S.T.L./Th.M.	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
Doctor of Sacred Theology (S.T.D.)	12	113.50	9.46	12.60	1	6.50	6.50	0.72	13	120.00	13.32	
Doctor of Sacred Theology (S.T.D.) - Candidates	9	62.00	6.89	6.89	0	0.00	0.00	0.00	9	62.00	6.89	
Master of Arts (Common M.A.)	14	170.00	12.14	14.17	1	9.00	9.00	0.75	15	179.00	14.92	
Master of Arts (Common M.A.) Candidates	5	60.00	12.00	5.00	0	0.00	0.00	0.00	5	60.00	5.00	
Master of Arts/Master of Divinity (M.A./M.Div.)	0	0.00	0.00	0.00	0	0.00	0.00	0.00	0	0.00	0.00	
New Directions	0	0.00	0.00	0.00	11	64.00	5.82	10.67	11	64.00	10.67	
Total - Jesuit School of Theology	135	1,593.00	11.80	167.51	28	159.50	5.70	21.03	163	1,752.50	188.54	

^{1.} Student full-time equivalency (FTE) is based on 12 units in the School of Law except for the Evening J.D. which is based on 8 units. JDMBA & JDMSIS are based on 9 units.

^{2.} Student full-time equivalency (FTE) is based on 9 units in the Jesuit School of Theology except for the Common M.A. which is based on 12 units.

^{3.} Students in Candidate status in the M.A., Th.M., S.T.L., and S.T.D. programs at the Jesuit School of Theology are full-time based on 6 units.

^{4.} Students in New Directions and Non Degree are always considered part-time.

^{5.} Students in some Jesuit School of Theology programs are required to complete field placement units. These units are counted in the FTE calculation.